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1 The numerical value of /AT ATd <

( 1 n 1 )( 1 1 )=?
cos0O cot@/) \cos6 cotf
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The perimeter of a rhombus is 40cm and the measure of
? an angle is 60°, then the area of it is —

u faawarer it qikfer 40 9t g 3= Fror i 717 600 7, 6
(1) 100+/3 cm?

MZ) 503 cm?

THHT 8D g -

(3) 160+/3 cm?
(4) 100 cm?
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B 5 The simplification of gives 3+53
—2
1-3

T <A THIIT g

(a) 5
(b) 5/3

Mc) 5/12

(d) 3/5
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Q) SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

= 4 The mean proportional between (3+v2) and (12 -/32) is

(3+v2) 31X (12 -v/32) *T HET FIUTAT 3

https://t.me/MathbySuryaveersir



¥ The average age of 9 students and their teacher is 16 yr.
o the average age of the first four students is 19 yr and that
of the last five is 10 yr. The teacher's age is —

9 G 3 I Frers Y o A 16 a9 ) TR AR AT AT |
a3 19 99 g 3N sifaw ai=r & 37 10 a9 g1 freres v oy |

)36 yr |
W) 34 yr |
(c) 30 yr |

(d) 28 yr |

| htt_ps://t.m_e/Matht_)ySuryav_eersir__'



1000 QUESTION SERIES

A garrison of 200 men has sufficient provision for 24 weeks. At the end of the

6 first week, reinforcement of 80 men arrives and the ration per day of each man
is then reduced from 900 g to 760 g. For how many days longer can they hold
out? _
200 T FT TFH ATt A 24 FTHAT + T 948 1AL g1 I8 qaT18 & a6, 80 7T |
S 37 ST & 3% T A+ A TRE &1 T+ At 900 ATH & T2 750 ATH g¥ S(rav g
o fRMiTr I a8 WaFa 22

1)38 weeks

ZAWAR [T C
(3) 138 days
(4) 128 days
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SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

5% income of Ajay is equal to 15% income of Bunty and 10%

7 income of Bunty is equal to 20% income of Chotu. If income of
Chotu is Rs 2000, then what is the total income of Ajay, Bunty and
Chotu?
T FY 5% AT & Hit 15% 3T F TEL § M qE T 10% 307 =g A |
20% 3T F T g1 T N it 3 § 2000 %, fe oo, S i ;g |

£} .
TTITTTE (1) Rs. 7200

M) Rs. 14000

(3) Rs. 5000
(4) Rs. 18000
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Iffafy x + % = 2. then find the value of /AT FTT HHRwA

8x3 + %

(1) 48

W) ss

(3) 40
(4) 44
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A man travelled a distance of 61 km in 9 h partly on foot at ':'
Q the rate of 4 km/h and partly on bicycle at the rate of 9 |
km/h. The distance travelled on foot was

TFARPAI km A 9T AT RN, 33 4 km/h |
TR FE U AP T 9 kmh T ag fit , AT Ta wHr 5T |
et g i =l 2

1) 12 km |
) 16 km |
(3) 20 km |
(4) 24 km |
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A and B together can complete a piece of work in 12 days. They
worked together for 5 days and then A alone finished the rest work |
in 14 days. A alone can complete the work in- :
AN B TF a1 12 il § TF FTH QU FL d6d gl S 5 i as |
TF 919 17 AT AT AT 14 o & et s g 37T, A s |
19 fahae foer 92T X 9T 8- -;

)Km 24 days

(2) 22 days
(3) 20 days
(4) 18 days
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A mixture contain milk and water in the ratio 5 : 3, 20 It mixture
taken out and replaced with 20 It water now these ratios become
1 : 1. find the initial quantity of mixture

Forsyor & ger S qTHT T SruTa 5: 3, 20 e fAsor w20 e art
& Fo foT SITaT )1 31 F g 1: 1 8y v €)1 Fror iy gt
HTAT FT qdqT A6 1) 100 It

(2) 40 It
(3) 60 It
(4) 30 It
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A man Purchase 2 goats in rupees 18000, first goat sold at 4/5 of
the cost price and second sold at 5/4 of cost price and he gain of
Rs. 900 Find CP of both

2 TF M<HT 18000 TUA H 2 TFU P U AT §, TRAT TR ANA T & |
4/5 I 99T FTAT g N T ARTT oI ¥ 5/4 9T 497 S(1aT g AL 98
900 TG FT ATH TTH HLAT gl AT THU T 7T T ATT HL ?

) 8000, 10000
(2) 9000, 9000
(3) 12000, 6000
(4) 7000, 11000
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1000 QUESTION SERIES

The simple interest and compound interest (compounded
annually) an a certain sum of money with a given rate for a period
of 2 years are Rs. 2400 and 2600 The sum of money is —

TTHTIT SATST 3 AHG TG SATS (ATATT Thgfg) 2 9 $t sty F forg
2400 3% 2600 BT ITq § ,qT GAHAT AT H< -

M) 7200

(2) 3600
(3) 2800
(4) 3500
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TN
a=+7+2V12 b= JV7-2V12
Find a3+b®=?

o
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1000 QUESTION SERIES

The maximum lenght of a pencil that can be kept in a
rectangular box of dimensions 8 cm x 6 cm x v/21 cm

5 qaY 2T FATE T TR FTT L ST T T ¥ ST TqET ST
et foreht fFuTT 28 cm x 6 cm x /21 cm

Ma) 11

(b) 33
(c) 12
(d) 8
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1000 QUESTION SERIES

ABCD is a quadrilateral inscribed in a circle with center O. If £
COD =120° and ~BAC = 30° then «BCD is -

ABCD T I e ST F TH O & e g P ax 0 g ,af< 2
COD = 1200 3T ~BAC = 30° g ar 2BCD FTd X

a) 75°
)lé’b) 90°
©

1100
(d) 60°
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N/

17 What is the value of Cot 45° - (1/v3) Cosec
60°7?

(1) 1v3
(2)1/2
(3)1v2
4) 1/3
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- 1 The two equal sides of an isosceles triangle is 20 cm
each and the third side is 30 cm. What is the area (in
8 cm?) of the triangle?

aaigaTg et F & aqe s 20 S+t w3 F € sk e
=T 30 9T &1 Bt 71 & (A2 /) =T 87

(a) 50v5
(b) 100

(d) 175
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What is the unit digit in the product (365 x 65 x
77)? '
(385 x 659 x 771) ® THTS S FAT S

https://t.me/MathbySuryaveersir



,f’__“‘m SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

N ] (2 ] %) (2 ) %) (2 _ ;) ..... (2 1909091)

0

(a) 991/1001
(b) 1001/13
(c) 1003/13
(d) NOT
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